
Ing. A.F. Baeder Ges.m.b.H. 🌐 www.baeder-automotive.com ☎ +43 (0)1 865 16 40 📧 sales@baeder-automotive.com📍 Kolpingstraße 13, 1230 Vienna

FTE BRAKE FITTINGS AND SMALL PARTS
Brake pipes

Item no. D L Norm Material Illustration
BR47505 4,75mm 5m DIN74324 Steel
BR47505KUNI 4,75mm 5m EN12449 Cupronickel
BR47100 4,75mm 10m DIN74324 Steel
BR60005 6,00mm 5m DIN74324 Steel
BR60100 6,00mm 10m DIN74324 Steel
BR80005.BS 8,00mm 5m DIN74324 Steel

Retaining screws
Item no. D D1 L1 L SW Flange Illustration
A0011 M10x1 5,1 10 16 11 F
A0577.1 M10x1 5 10,5 16,5 10 E
A0594.3 M12x1 5,1 15 20 12 E
A6305 M12x1 6,3 12 20 12 F
A0586.3 M12x1 6,4 14 18 12 E

Hollow screws
Item no. D L1 D1 L2 SW L Illustration
A0022 M10x1 8 12 19 17 24
A0025 M14x1,5 16 14 27 17 33,5
A0023 M12x1 10 14 23 17 28

Banjo
Item no. D H D1 L α Flange N Illustration
A0001 14,2 12 M12x1 32 20° E 1
A0002 14,2 12 M12x1 32 0 E 2

A0005 14,2 12 1x M10x1
3x M12x1 32 0° F

E 4

A0009 14,2 10 M10x1 32 28° F 1
A0350 14,2 12 M12x1 32 0° E 1
A0246 14,2 12 M10x1 32 F 2

Spacers
Item no. D L SW Flange Illustration
A0074 M12x1 29 17 E
A0603 M10x1 24 14 F
A0181 M12x1 35 12
A0624 M10x1 35 10

Distributor
Item no. H D L Flange D1 Illustration
A0008 14,8 M10x1 30 F 7,3
A0437 17,5 M12x1 36 E 8,4

Screw neck
Item no. D L1 SW D1 Flange L Illustration
A0208.3 M10x1 20,5 17 M10x1 F 7,5
A4645 M10x1 7,5 17 M10x1 E 24
A0029 M10x1 7,5 17 M12x1 E 24
A4577.1 M12x1,5 12 17 M10x1 F 26
A0020 M14x1,5 12 19 M12x1 E 27
A4670 M24x1,5 14 27 M14x1,5 E 28
A0313 7/16“-20UNF 12 17 M10x1 F 27
A4570 M12x1 8 17 M10x1 F 20,8
A4589 M12x1 10 17 M12x1 E 26

Screw neck
Item no. D L1 SW L Illustration
A0712 M10x1 12,5 14 14
A0707 M12x1 7 17 11

Brackets
Item no. B1 B H H1 Thickness Illustration
S0101 14,1 34 41 17 1
S0127 12,1 34 41 17 1
S1241 12,2 34 39 17 1,75

Breather valves
Item no. D L1 L SW Illustration

R0032M01 M6 13 29 7
R0010 M8 19,2 41,6 9
R0011 M8 16,7 56,6 9
R0038M01 M10x1 15,5 29,9 11
R0087 M7 41 7
R0023 M12x1 31,5 12

Knee pipes
Item no. D1 L1 H D2 L2 α Illustration
A0374 8 15 11 8 32 105°
A0375 8 15 11 8 32 135°
A0368 8 15 11 8 32 95°

Rubber plugs
Item no. d D L Illustration

H0850 7,3 17 10,8
MH0850G 7,3 17 10,8
H0860L06 7,3 22 10,5

Rubber plugs
Item no. d D L Illustration
H0129 4,5 17,85 18
H0870 6,5 17 13,7
H0853 7,3 17 13,7
H0171 7,5 17 18
H0857 7,3 22 13
H0855 12,3 22 13

Dust caps
Item no. Colour Illustration
R0001 black
MR0001 green

Rubber plugs
Item no. d D L Illustration

H0858 7,8 19 12
MH0858 7,8 19 12

Rubber plugs
Item no. d D L Illustration

H0851 5 17 21

O-rings
Item no. D Stärke Illustration
D1328 6,07 1,78
MD1328 6,07 1,78

Circlips PUSH-IN - tension wire
Item no. Illustration

H0220

Upon request:
Square sealing rings, U-rings, drip sleeves, protective caps, repair kits, brake and 
clutch hoses, expansion tanks


